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B.Com. (First Year) Examination, 2018

ACCOUNTANCY AND STATISTICS
Paper-1
(Financial Accounting)

Time : Three Hours
Maximum Marks : 100

PART - A (@us-2r) [Marks : 20
Answer all questions (50 words each).
All questions carry equal marks.
it 7o Sfar € | T T S T e s A
Tt gl & 3 TuE ¥
PART - B (@usg-) [Marks : 50

Answer five questions (250 words each).
Selecting one from each unit. All questions carry equal marks.

T T § TH-Uh W9 IR §U, F uie e i |

Te%h W 1 I 250 VST § Ao 7 €
9t W¥ F o7 wHA § |
PART - C (@us-w) [Marks : 30
Answer any two questions (300 words each).
All questions carry equal marks.
IS ST F9T I | Tedish W 1 I 300 W F S7fe T &)
it T o ofeh THE ¥
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PART - A
(Eve-3)
UNIT - 1
(3=tE-1)
1. (i)  On which concept accounting equationis based. State
the equation.
o iR R STaER R sneiE 2 s fafed )
(ii) State the exception in posting from three column cash
book.
T Uahg €1 W WA 1 3T9aTE Taeed |
UNIT - I
(ghTE-11)
(iii ) State three objectives of providing for depreciation.
TR WEHH & diH 3899 aqeisd |
(iv) How abnormal loss is treated in éonsignment accounts?
3T @l H ST B 1 9 SRR el 8 2
UNIT - III
(FeRTE-111)
(v) State the formula to determine insurable value under
loss of profit policy.
o F arf el # shfia aftn el = g7 fafed
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(vi) State any two major differences between reéeipt and
payment a/c and income and expenditure a/c.
Wi YT T U6 -390 @R § 1 S ww s
AR |
UNIT - IV
(3&TE-1V)
(vii) Define shortworkings.
e Tl 1 wRef R
(viii ) What is unrealised profit in departmental accounting ?
faurita wraisa § ' age gu o’ @ §2
UNIT -V
(3E-V)
(ix) Give journal entry for following :
Mr. N and Mr. P are equal partners. They admit Mr.
V as partner for ¢ share and for which he brings
15,000 for goodwill. New profit sharing ratio will be
6: 4 : 2 respectively.
T Qe 9 e 6 WEER ¥ At Lo ¥ fa
79 34 § St @nfa % o ot feRd F T 15,000 @ |
j 1 T WMN-FI S FER: 6 : 4 : 2 B S

wfafe e

1802/9900 3 PToO.




(x) What is rule of Gérgen v/s murray ?
TR T 7 w2

PART - B

(Eve-9)
UNIT - I
(3=TE-1)
2. (a) Develop an accounﬁng equation taking fire imaginary
transactions.
el Il e SRt T SRl THIT ST |
(b) Explain the convention of conservatism.
Ffgatea #t v # guemEd |
OR ( 31ar)
3. Write short notes on any two :
(a) Suspense account
(b)  Rectification, adjustment and closing entries
(c)  Accounting standards setting process
el & m dfarm feufrt fafed .
(1) Su=it @
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(3) QYRS FHREISHT U ity wfafbet
(|) or/E 9 9 F uiEgr

UNIT - 11

(FeT3-11)
4. Explain the following in brief :
(a) Causes and objectives of depreciation
(b) Self balancing ledgers
=1 = ddw ¥ gweme .
(31) oI % HR0 T4 329
() w==1F wgfera @ afeat
OR ( 31erEr)
5. Aditya of Ajmer sent a consignment of goods to Bhushan of
Bhilwara on the basis that Bhushan was to effect sales on
~ behalf of Aditya and to receive a commission of 20% on selling
price. Bhushan will be responsible for all indirect expenses at
his end, but the goods were to be forwarded FO.R. Bhilwara.
The commission was considered to include delcredre

commission also.
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Aditya sent the goods costing T 25,000 at an invoice price of
T 30000. He spent ¥ 400 on packing and loading. On receiving
the goods, Bhushan accepted Aditya's draft for ¥ 15000 and
paid the following expenses :

Freight ¥ 1,800; godown rent 500; insurance godown 200; Mis.

exps. 200.

4 ‘
He sold 3 of goods for ¥ 38,000 and could not realised I600.

Give n.ecessary ledger accounts in books of Aditya and
Bhushan.

3T & SN A fierarst & Eu i YU W AW 39 I W
a=1 foF o anfee & AW W W s aen fasa gea W
20% HHITH WG HEN| YU 94 g fohd T wHE AU
=Rl &l W ggd wON T 30 Hieare 9@ 91 fHE g
BT S S HEYE B | el A ot wfhe wwen
Elcul

anfes A 25,000 T @G H&F I W 30,000 T % e qod
TR 9 | IR 400 ¥ AT aun @< W = R ywor | A
I A W e &1 15000 ¥ w1 fafra o3 @i e qen
=1 =33t 1 A foRan
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& MTeT 1800, Tierd feftran 500, s Tierg 200 T fafay =54
200 : ‘
T g e 38,000 ¥ H &= faes ¥ 600 T 9w T & 9 |
S TUT Y it b ST T AT |

: UNIT - I

(F&TE-111)

6. Explain the steps to determine claim under loss of profit
policy.

@ <t aifa s drelt § < @ ofe 99w FoufEa w5
TR |
OR ( 31T )

7. Alwar transport Ltd. purchased three trucks @ 8,00,000 each
on hire purchase system from Jodhpur motors Ltd. Down
payment of ¥ 6,00,000 was made. Balance was payable in
three equal annual instalments with 15% interest. Alwar
transport write off depreciation @ 20% on WDV basis.
Purchaser duly paid the first repossessed all trucks and after
spending ¥ 1,16,000 on repair these were sold for T 15,00,000.

Give necessary accounts in books of botht he parties.
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FTeTaT ZiEdre fa. A 19 2 8,00,000 ¥ Ufd 7 1 X H SR
e fa. @ fewan w9 | %a & 6,00,000 T g A
fepan 11| 99 gou < TEE anfties R # 15% =S % Wiy
T € | TR THUE Tl W Hed g YW W 20 Hedgd
syofefea wEt & | 3har = W for &1 sy fepan o =S
feredl =1 e et feman < ek | fashan 3 wegol genl w1 gifed
o for & T T W 1,16,000 T 3 T F @18 3% 15,000 T
3 are foe | 3 v T A o WA AR

UNIT - IV

(FHTE-1V )
8. What are indirect expenses in departmental accounting.
Explain basis of their apportionment.
fouriia er@iea | 3Tcel 9 91 §7 394 SIS & ER
T FHIfeT |
OR ( 7))
9. On 1.1.2010 Ram obtained a lease of land from Laxman
bearing coal on the terms that a royalty is payable @ 20 per

tonne of output and minimum rent is 10,000 p.a. with a right
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to recoup shortworkings over first four years of lease. From

the following further details prepare royalty a/c, shortworking

a/c and Laxman a/c in boks of Ram.

112010 T TH 3 T&90 Y FHIS F @H 39 U@l W I WA

fir sifierR ook 20 T wia Scafed =7 #1 <X ¥ ¥4 ¥,
farm 10,000 oftes den @™ T H T2 % FoH IR a6 §

Fge F 1 AR T el @ w5 gl § G

aﬂﬁ-q_

ATUHR Yoo @I, TEHE T e a1 TeHoT 61 Wl

Year Sales in terms Closing Stock in tonnes
2010 230 20
2011 340 50
2012 420 80
2013 640 40
2014 700 60
UNIT -V
(FhTE-V )

10. Write short notes on followings :

(a) Treatment of goodwill on admission of a partner
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(b) Rule of Garner v/s Murray
(31) WERE % FAY W A I A IR
(=) TR W e
OR ( 3te@r)
11. A, B and C are partners sharing profits in 2 : 2 : 1. The B/S
of firm on 1.4.2013 was as under :

3,9, W2 12 ;1% I H W ded gY TR € 11.4.2013

) S 1 fagr = g an
Liabilities Amount | Assets Amount
Creditors 65,000 [Cash at Bank 10,000
General reserve 15,000 | Debtors 70,000
Capital a/c's : : Stock 40,000
A 40,000 Building 50,000
B 30,000
C 20.000 | 90,000
| 1,70,000 1,70,000

'C' retires from firm on 1.5.2013 and it was decided as under:
(i)  To reduce stock by 10%
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(i) To increase building by 50%

(iii) To provide for doubtful debts at 5%

(iv) To value goodwill of firm at 20,000 and adjust share of
'C' in capital a/c of 'A" and 'B' who decided to share
future profits equally.

(v) Share of 'C' for current year period agreed at 2500.

(vi) To pay 'C', a bank loan was arranged for ¥ 25,000 on
1.5.2013.

(vii) The amount payable to 'C' was fully paid on 1.5.2013.

Prepare revaluation a/c and capital accounts of partners.

152013 ¥ '’ wH | s Te0 F4d1 ¢ | 39 fo Fr= fofg

fog 7 -

() % g R 10% |

(i) Vo 1 qed 50% @ agrE S|

(i) TR W 5% Ht X "y FHO F faw b= a= =
S |

(iv) wH =t =fd 20,000 T W gediferd ot M R 399 ‘9’
F e = o’ o9 F ISt mn § Rt w e
s, it wfas § @y e w1 SR dien w1 frved w
gl
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12,

13.

(v) e e ¥ forg ‘' e e feeE 2500 ¥ TER T
fopa T |

(vi) ‘| ® gHH & fAw 1.52013 H 25,000 T F dF B
= e F T ‘

(i) ‘|’ 1 27 T g e 1.5.2013 F R fa

el T T EER % st @ aEy | :

PART - C

(@us-H)

UNIT - I

(FTE-1)
Is agreement of trial balance is a conclusive proof of accuracy
of books ? If not, why it is 50, explain.
FT TEIe 1 FHEH SRET & i SThId YSaT i T 82
afe 7, @ T ey |

UNIT - II

(geTg-11)
Bachan and Charan enter into a joint venture to develop a
film for government. The government agrees to pay <
1,00,000. Bachan contributes ¥ 10,000 and Charan contributes
T 15,000. These amounts are paid into a joint bank a/c

payments made out of joint bank a/c were :
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T T8 9 R & fou e fhen s 'Y 99 9y o
& T | WR A 1,00,000 T 3 79 fRATI == A 10,000 T
991 9 7 15,000 T @ | 39 W F GIF dF @0 H o
fean 1 Ty A% @a ¥ e e R T

Purchase of Equipments 6,000
Wages 45,000
Materials : i0,000
Hire of equipments 5,000
Office expenses 5,000

Bachan paid ¥ 2,000 as licensing fees. On completion, the
film was found defective and government made deduction of
% 10,000. The equipments was taken over by Charan at a
valuation of ¥ 2000. Separate were maintained for joint
venture, whose profits were divided in the ratio of Bachan 2/5
and Charan 3/5. Give necessary ledger accounts.

o 2000 ¥ REE HH % gHC) w@ gof T R/ fme
Sraqel U1 T U TR T 10,000 T T FHAT I | 3FAIER
1 =0T 7 2,000 T T eI W o | W Wed ¥q e [
T TE qE T B 2/5 (A=) TE 3/5 () F o F ar
1 | AEEF T T |
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UNIT - I
(FFTE-1I0)

14. From the information given below determine, the claim under

consequential loss policy :

=1 gemmeli @ wfomdt wift s et % el o =6t ofa

fauifia =ifew .

Indemnity period : 6 months
Date of fire 31.5.2014
Dislocation upto 30.9.2014
Sum insured < 70,000
Sales for last accounting year | 2,40,000
Net profit for last accounting year 20,000
Standing charges all insured 40,000
Sales for dislocation period 30,000
Sales for 12 months immediately 3,30,000

preceeding date of fire
Sales for corresponding period in the

preceeding year (31.5.2013 to 30.9.2013) 1,10,000
1802/9900 14




The policy contains special circumstances clause, which
stipulates for increase in turnover (Standard and annual) by

10% for an upward trend in the sales.
grehrelt # faftm oftftufaal aaiy & S 39 9@ 1 e w1
? f fafis =t (wwifem wd anfis #) 10% =+ gfs =5ewm
H agdt g3 wafa F FRO FE T
UNIT - IV
(FE-1V)
15. Write notes on followings :
(a) Stock and debtors method in branch accounting
(b) Shortworkings and its recoupment treatment |
= w femfrt fafed -
(31) wrE AEiw i i d eR fafy
(F) e U TF sHE THEt W TR
UNIT - V
(E-V)
16. X, Y and Z are partners sharing profits and losses in the ratio

of 5:3:20n31.3.2015 their B/S was as follows :

(TF9, 915 T ST URER € W 5 13 : 2 F U A A
faem 5 ¥ 13132015 F) 39 AT S UER R) ¢
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4 4
Capital Accounts : Cash in hand 1,000
X 7,500 |Sundry assets 31,000
¥ 6,000
Z 1500
X's loan a/c 5,000
Y's loana/c 2,000
Sundry creditors - - 8,000
Bank Loan 2,000
32,000 32,000
The firm was dissolved on 1.4.2015. The assets were realised
as follows :
142015 F FH H1 FEGA @ T FH w wwlwdl ¥ owia
=1 geR E‘s{ £
4 T
April 30 6,250 Expenses 250
May 31 5,500 Expenses 400
June 30 12,500 Expenses 750
July 31 4,500 Expenses 250

Cash received was paid to the rightful claimants. Prepare a
statement showing distribution of cash applying Garner v/s
Murray rule (Maximum loss method).
T TEER F IHT F EAE R T e @ faao fean
zU feror 73 s M S WO @ g i
(atfeeraw w1f faf)
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